$PROB FOCEI
$INPUT ID  TIME DV EVID DESIGN DOSE WT    

$DATA DATA_sim.csv IGNORE = @ IGNORE=(EVID.EQ.1)

 ;------------------Parameters--------------------

$SUB ADVAN2 TRANS2

$PK

ka = THETA(1)*EXP(ETA(1))

V = THETA(2)*(WT/70)**THETA(4)*EXP(ETA(2))

CL  = THETA(3)*EXP(ETA(3))

S2 = V
$ERROR
IPRED = F
W = THETA(5)+IPRED*THETA(6)

Y = IPRED + W*ERR(1)

IRES=DV-IPRED

IWRES=IRES/W

$THETA 

12

;1 ~ka

0.25    
;2 ~V

0.6    
;3 ~CL

0 FIX    
;4 ~beta_V
;1      
;4 ~beta_V   if beta estimated

0.18 

;5 ~SIG_inter

0.36 

;6 ~SIG_slope

$OMEGA

0.36  
;1 ~IIV_ka

0.36  
;2 ~IIV_V

0.36  
;3 ~IIV_CL

$SIGMA 

1 FIX 
;  ~ERR

;FOCEI

$EST METHOD=1 INTERACTION PRINT=5

$COV

$TABLE ID DESIGN ka CL V ETA1 ETA2 ETA3 WT 
NOAPPEND FIRSTONLY NOPRINT ONEHEADER

FILE=IDsH0FOCEI
$TABLE ID TIME DV EVID DESIGN IPRED Y RES WRES IWRES  

NOPRINT NOAPPEND ONEHEADER

FILE=DVsH0FOCEI
